Best model for HELP _J003710.688-435458.419 atz = 2.673 x%=1.15
OPTx?=0.62 IRx?=2.94 threshold (OPT IR)=29.38 [um]

. Stellar attenuated
o Stellar unattenuated
2 .
10 . —— Dust emission
. —— AGN emission
. = Model spectrum
101 ® Model fluxes
M oObserved fluxes
> 10°
=
S !
x 101 :
S .
L "‘fk'mi'\,"""'\-,‘\ B LA e - E
10—2 .
1073 :
5 4
307 4
= ] ==f=(Obs-Mod)/Obs
S ]
i) ]
T ] L
8 0 _-_ [, QRN Ty S [ R Sy —— N | S 5 S S S S G S S —————
) ]
2 ]
S ]
o -1 T CIGAL
()
(o'

10° 10! 107 103 104 10° A
Observed wavelength [um]



